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tﬁe real zeros of the function.
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United States exports more PE st o 22 —0.715, 075 54. f(x) = x* — B . 20,2
than any other country in §3. f(x) =X + 3 =409, —0.98, 1.47, 4.60+ 10x+2]
the world. It also imports - GRAPHING MODELS In Exercises 55-59, you may find it helpfyl to grag
more than any other ¥ the model on a graphing calculator. 55-57. See margin.

country. .
55. % UNITED STATES EXPORTS For 1980 through 1996, the total expors

i 2
- g") B L E (in billions of dollars) of the United States can be modeled by
X —
E = —0.131¢% + 5.033t> — 23.2t + 233

36. fix) = x> — 2x* —

19x + 20 where ¢ is the number of years since 1980. In what year were the total expor;
37. fix) = X — 2x% — $312.76 billion? » Source: U.S. Bureau of the Census

33x + 90 56. ¥ EDUCATION DONATIONS For 1983 through 1995, the amount of piv
38, flx) = x° + 5% — donations D (in millions of dollars) allocated to education can be modeled by

e 2“3 2 D = 1788 — 6.0212 + 752t + 6701
39.f(x) = x* + 13x° + .

g!x + 56 wherff t is the number of years since 1983. In what year was $14.3 billion of
e dqnatlons allocated to education? P Source: AAFRC Trust for Philanthropy

L 57. ;%ISP)OI;TS EQUIPMENT For 1987 through 1996, the sales S (in million

ollars) o h

8 At i & gym shoes and sneakers can be modeled by

9x — 45 S = —0.982r + 24.6* — 2117% + 661¢% — 318t + 1520
42.f00 = x* + 32" — 144 :vvhere é is the number of years since 1987. Were there any years in which®
43. f(x) = x* + 10x% + 9 ere about $2 billion? Explain. » Source: National Sporting Goods Association

£ 58. ST ; |

44, f();)z =x'— 63 + gtelgtil:;"s“m For 1990 through 2000, the actual and projected amoun

35x” — 150x + 250 On per person per year in the United States can be modeled bY
oud g, i':ﬂ;m’ B $= —0213 + 3962 + 1021 366

- * 8l 0h where § is the amount spent (in d i ars SIn°
in dollars) and ¢ is the number of Y&

=304 x4, - During whi
i a‘_a T »s g'wlnch year was $455 spent per person on television?
ource: Veronis, Suhler & Associates, Inc. late 1993
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